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Today we will 7”va learn ) q7 of o171 noON
Some of the topics we will learn about include.

A continuation of the Machlokes regarding pxw o7
mow, when one states a 7 that does NOT conclusively
indicate Issur.

A discussion of whether the concept of m7 applies to
other Mitzvos that are initiated through 712’7, speech:
For example;

The question of P15 7 W

Does the concept of m7 apply to a man giving a woman
Kiddushin, in which he must tell her

S NWTPN DR N

Y ou are becoming nw1Tp» to me?

The question of RS 77 v
Does the concept of M7 apply to a person who separates
Ro from his field?

Some of the terms and concepts we will learn about
include

7RO M¥D
A landowner is required to set aside the end of his field, in
which the 071y, the poor people take those crops.

The Gemara cites a Braisa that

RO 11TV 52 MWYS 11317 DX

I

A generous landowner may set aside his entire field for
RO M3», because the Pasuk states

7 NRD 79IN R

You shall NOT uproot 7w nxo

As the Ran explains, the Pasuk does NOT state

JTVIV RO

The end of the field

But rather

TV NRO

The end, the field,

Which teaches that a person has the choice to set aside
either nRo or 77w 5
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So let's review ...

The Gemara in the previous Daf mentioned a Machlokes
regarding

MM PRV O

When one states a 7 that does NOT conclusively indicate
Issur;

"IN says

ninth il

The 1 IS effective.

N1 says

o7 IR

The 9711s NOT effective.

The Gemara cites a Braisa:

There was a 73, a loaf of bread, placed before a person,
(WX 7921 5"))

And he said

DY RIT N

This should become on me.

ORI

12905 7 w191

The 771 is effective, and the 155 becomes prohibited,
because the words *5v X1 377 is a 7 for a Korban, which
implies Issur.
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There was a)22 placed before a person
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The Gemara explains that according to 817 who holds
MM PRY D7
o7 PR

DY MR

JOR

When he includes the word "5, the 197 becomes 710K,
because itis a 29> mom 7.

However

DY IR RS

T

When he does NOT include *5v, but merely said
R0

Or

pikan!

The 905 remains 10, because it is a ’om PRY 7.

However, according to »ax who holds
MM PRY D7
D"r? ]77]”

DY MR

MOR NI

I

When he includes the word 5, the 753 only becomes T1OK
to the 973, but remains 7mn to all others, because itis a 7
12975 vow which is only 975 MOR, since the 732
CANNOT become a w"R771 791 5"3) 127p)

However,

DY IR RS

PMOR JPIW

When he does NOT include *5p, the 930 becomes 710K to
all, because

ARP WP RN I RDSTT

It is only a j235 o PRY T, since the T can also refer to
wpn which it Y25 710K, since the 795 can become wpr.
And

RIS PR

We must consider the most stringent 7, because

Dom PRY 7

o7 PN
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The Gemara continues with a discussion whether the
concept of M7 applies to other Mitzvos that are initiated
through 7127, speech:

1.
RoO 17 asks

roOITRh T W
Does the concept of m7 apply to a man giving a woman
Kiddushin?

The Ran explains the question as follows:

Are poryrp m effective, because

DITIIPRD T ]I

POITR M7 can be derive from 073 M7 by a wsn .
OR

rorrp m7 are NOT effective, because

PPIATINY DT

o771 are more stringent than Kiddushin, in that

ROPM RPDIYARNDTIDIT

A 771 can be created merely with words. However,
") VYN DR POITP

Kiddushin can only be accomplished with both, a 2’7 and
anwyn, an action.

The Gemara elaborates that there is NO question in a case
where

Y NWTIPL DR I TWRS 15 IRT

more nw I 1nn

NINY NN

MINNI

He gave one woman two mv119, and said to her nX ™1

5 nwTpn; and then told a second woman 13 NNy, and you
too;

In that case they are both nwmipn to him, because

PRV POITR N

The words *»1 nX are a complete expression of Kiddushin
for the second woman, not merely a 7 and the first
woman is a >w of the second woman.

The question is only in a case where

D WTIPR DR 1 TWRY 1 IRT

anans 7o AnR)

R

In which he told the second woman nxj, and you, but he
did NOT say "3, you too;

Do we say puiTpb 7 w2

It is effective, because

ANan 75 IR MI NN

ANYans pUITR 12 °00Mm

Because nx1is amom 7, and it’s as if he said »1 nxy; and
the first woman is a 5w of the second woman;

OR

POITRY T PR

Her Kiddushin is NOT effective, because

ANaN5 75 R ORI DR

NN PWUITR 127000 R

Because nxy, although it’s a o 7, he probably meant
Kiddushin, but it's NOT jw5 9p°v, a complete phrase,
because he may have meant "kt nxy, and you should
observe the Kiddushin?

This question remains unresolved.
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The Gemara elaborates
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This question
remains unresolved

Nedarim 6-4



AT EMT

2.

R95 37 also asks

Rob T W

Does the concept of mT apply to a person who separates
nRo from his field?

Do we say nro> 7 w7

mIph UPIYRT

Because there is a comparison of X9 to Korbanos in the
Pasuk

OB TROR TIWIT WIT 2 WHWY RN K>

The word pyn» is superfluous and teaches that

RO MW VRS T

The Issur 9nxn Y2 applies to 7xo as well. Therefore,
maIp I

7oL W

IND R

TOW

Just as m7 apply to Korbanos, which are 0173;

m7 apply to nxo as well.

OR

RO5 T PR

Because

VPR

WPIPRT R INRN Y25

The wp'n only includes the Issur 3nxn 53, but NOT m.

As the Ran explains, there is more of a reason to apply m
to Nxo than to pwITp, because

R0 M7 can be derived through a wpn. But

PwITR M7 can only be derived through a»xm»nn; and a
wp i is stronger than a 13m 7.

The Gemara elaborates and says that that there is NO
question when

RO MPH NN P IOR

MIPT

A person says that this row in my field should become
nR9, and this row too; that both rows become k9, because
N RDDYD RO RN

The words *»1 17, are a complete expression of making
RO,

The question is only in a case where

DTN IORT

M3 IR RN

He said y7m, and this, but he did NOT say *», this too;

In which his statement is only a >m 7, but NOT v
.

This discussion of m7 regarding other Mitzvos continues
in the next Daf.
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The Gemara elaborates
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